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For Problem 1-6, use:

(-7, 24) is on the terminal side of A and
90°<A<180°

cosBz% and 0°<B<90°; and

Cot € =124 and —180°< C <-90°

to find the exact values of:
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For Problem 1-6, use:

(-7, 24) is on the terminal side of A and
90°< A <180°

cosB=% and 0°<B<90°; and
Cot C =12/ and ~180°< C <-90°

to find the exact values of:
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For Problem 1-6, use:

(-7, 24) is on the terminal side of A and
90°< A<180°

cos:B:45 and 0°<B<90°; and

Cot C=12/ and —180°<C <-90°

to find the exact values of:

. ; (O} ] —_ _ = o 28 >
. Tn(AB) = ——— 2 TEY, ¥

— -

o ¢ G
S - @14
. 2 -
b L) (’G) 255
" 2
oy
\_(’p/q))“ 5. Csc2C = ’_\jg‘__4z
2. Cot28 2 ¢ [rﬂf‘(’)
L) _ s
= S =




7. Prove:

sindx )
) =sinxcos

4(cosx+sinx

2._5.'.\.1 Z\K ((.‘-5 ZA:;,

L (cosw S &N '63

2 x —cosxsin

2

M'N‘K Cos=) (Cca;?‘x- ~S N\,)k)

%’éos ~ S )

Sthc Cosw ( cos x-c;j',.ux)

9. Solve exactly for x:
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10. Solve exactly for x € [0, 60"]:
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For Problem 1-6, use:

(-7, 24) is on the terminal side of A and
90° < A<180°

cosBz% and 0°<B<90°; and

Cot C=12/4 and -180°< C <-90°

to find the exact values of:
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